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TELECOMMUNICATION & SWITCHING NETWORKS

ﬁﬂfﬂam?hﬁﬂ%] [mﬂ.iﬁ:'m

Time allowed : Three Hours] [Maximum Marks : 70

. () FUHIE AT 8, 9 7 8 frEt ala & 3 A

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining,

(i) ¥A% J97 & T 977l F FHGR 0 qreI 5T o

Solve all parts of a question consecutively together.
(iii) NeA% F¥ F1 79 Y8 & IRE Hord |

Start each question on fresh page.

(iv) 1 ST 5 3T 517 1 Rl F 37301 srgare & w8

Only English version is valid in case of difference in both the languages.

1. () | W& e i gfonfya Hif |
Define 1 Erlang Load.
(i) CTEER H ITFM 374 are feafe a1 w1 arffator Hifsn |
Classify switching systems used in telecommunication.
(iii) SeNBR A aEes-TAFnad@ e 7
What is side-tone in telephone ?

(iv) EPABX 1 1 3qam & ?

What is the use of EPABX ?
(v) T=aTcra AIE v % wiE g iy faflaa |
Write any two advantages of automatic telephone exchange. (2x5)
(10f4) P.T.O.
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(i)

(ii)

4. (i)

(ii)
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QT S g 3 et i s v i
()  STHIHTT ST T 5
(b) AT Td T -SATIHT A2qH
Differentiate between the following terms with reference to telecommunication :
(a) . Subscriber line and trunk
(b) Blocking and Non-blocking network (3%2)
g g i ST STk ¥ e HTen W 1 A |

Explain the Load-sharing mode of dual processor architecture of centralized
control. (6)

o Wy feafam gg wiwaw anfdhera = gmmmy |

Explain the software architecture for electronic space switching.

oy foye oy foge & wits orEa | srsgafead gea frarse =1 g |

Explain the sequential write / random read operation of time division time
switch. (6x2)

TST f&g &) Sriyune % 3 A 98ma § a9amsu |

Explain the working of TST switch with the help of diagram.
wTshid wishan &1 forar | Twengu |

Explain Markov process in detail. (6x2)

Frer 781 1 2t SRR ¥ vt # wonfa B

(a) ST YA
(b) et i &
(c) §an i Sofi

Define the following terms with reference to traffic engineering :
(a) Busy hour
(b) Call completion rate

(c) Grade of service (2x3)
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(i) 20 42 & U1 A # 40 ITHIFN HiA IF FW & | HiA HT FA THT 4800

(ii)

7. @)

(i)

HEHUSH & | ST g Azaeh 9L ST T Si1e 71 HIfT |

Over a 20 minute observation interval, 40 subscribers initiate calls. Total
duration of the calls is 4800 seconds. Calculate the load offered to the network
by the subscribers. (6)

WAN =7 3Tfdheeet 99130 3R 36 JOEsT |

Draw the architecture of WAN and explain it.
Qg HE@ H! AEHAT & HieAd BIH T3 HY HEANITCA THATY |

Explain the working of cordless phone system with the help of block diagram. (6x2)

LAN ¥ 5g&a 214 areft fafvm dieish = dem # awzmu |
Briefly explain the various topologies used in LAN.
e Wi U9 qg-Ta{d 42aeh! ! gl ity |

Compare single stage and multi-stage networks. (6%2)

8. Tmr & A fordl @ w femaforat forfia -

Write short notes on any two of the following :

(i)

(ii)

H

WAN
faaf@ sec

Distributed SPC

(i) d.wg. .

PSTN (6x2)
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